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(:eneral Insiructions
. 1. Ail questions are compulsory.

2. The question paper corsists of 31 questions divided .20 four scetivg: % Coand
1. Section-A comprises of 4 questions of 1 marl, e vh; Section - f,.n]:":.'ih:es u:-' o
questions of 2 marks each; Sectinn-( ~comprises of .0 c;uesticr.: of 2 rnarks each and
Cection-D compriscs of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of cziculator is not permitted.

WUS-3H / SECTION-A

A e . L&
W U 1R 4 H TxF F1 1 37F § e, of
L v\
Question numbers 1 to 4 carry one mark each ? % o
ampfa 8, PQAC §1 4 AP=3 cm, PB=7 cm @91 BQ=10.5 cm ¥, @ B¢ Tsifag,
C

/)

. /|
4_/4/:_4
A P i

In the figure, PQ|AC. If AP=3cm,PB=7cm and BQ =10.5 cm, find BC.

Q
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T cosec A = %%,fhsec(w — A) F1 W @ FC

If cosec A = %, th ' find the value of sec (90° — A).

., + 2¢eB
I /3 sincucosn%,ﬁlM F WA I HIfTT

If /3 siniiz=cosh, find the value of

Jcosh + 2

3cos%d + 2cosh

—

3comd + 2

H= TgiT % dF e & 99 s J 9w fafag)

Write the cmpiricai relatonship belween the three measures of central tendency.

@Ue-d [/ SECTION-3

TERESNSA,00 omH 20F T
Question nurroers 5 to 10 ¢orry two marks eac|

AT o wale &1 o i) 33 i wafas & i a < b % fag R e, A a=b

A

G4rHa,bo T d IR E FEm FErd =& @ A

State Euciid divis' . lemme [ Fuclid lemma is used fora <t asa =b q +r, then which of a, |

b, ¢,-or ris necess

=1y z7ro.

grafas fHwnsE fiee farn é; 1 TyHeE waR fafa

Write the decimal expansion of *4;-5 without actual division.

1 FifT fF Fret T =it g g el we wn vF oy © e i € wwie € 2
sar Hrdt €
2x+y+3=0 .
4x+2y+6=0
Find whether the lines representing the following pair of linear equations intersect at a point,
ar parallel or coincident ;
;.1' + "f +o= 0
3x+ 2\ +6=0 5
AABC Y, af2 APLBC 791 AC?=BC - AB* %, Al frg Hifore i PA™= PBx:Pts
In AABC. i* AP 1L BC and AC?=BC?- AB?, then prove that PA 2=PBxCF )
7 k+1=sec2d (1 +sind) (1—sind) 2, A k 1 7 T FF
If k + 1 =sec20 (1 +sin0) (1 —sin0), then find the value of k. ,
1 @ g aian w29 fom T ) T W T TINT SRARA S T
x of |
600 ® FH 60
| 500/ FH 58 |
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B C
17 ﬂﬁ‘ sin(A + B) =sinA cosB+ cosA sinB ¥, @ sin75° 1 A WA FHIC | y
If sin(A + B) = sinA cosB+ cosA sinB, valuate sin75°

18 ﬁqﬁf@aﬁ‘a‘aﬁmzﬁ;mw: 3

[cosec B~sin ). (ser. 0 — cos 0). (tan 0 + cot 0) =
Prove the follewing i icentity :
(tosr-c 0—sin 8). (sec 0 — cos 0). (tan 0 -~ cezd)=1

19 fmqqtﬂmﬁﬁwi%rmcﬁarwm$ﬁﬂﬁhlwaawﬁz¥ﬁmw3

T

il kit Jos [250 [5075 |%100 | 100125

Sk ST YN ETH - E- I T

HI S T W Eafon )

The following distribution table shows the daily pocket money of Class IX stizdents of a school

Poketmeney (ins, 025 | 2550 | 50-75 | 75-100 | 100-125
s r’r_c.]‘_»_tudf'nts 3 18 25 | 15 4
rind th» mcan ecket money.
3

20 fumwol 40 7 T TR G T T

AR AL (% ﬁ'___ 30-40 40-50 | 50-60 | 60-70 | 70-80 | 30-90
el At 6 7 10 6 8 3
TEEH WERM ST 7l w1 ‘

The !ollewing table gives the literacy rate of 40 cities :
| Literacy rate (in %) [30-40 [40-50 [50-60 [60-70 [70-80 | 80-90

1__1\-{1_{“1[?(.[&_1:61 tics 6 7 10 & 8 3
Find the modal literacy rate.

@UE-g / SECTION-D

Hé‘:ﬁ'@!zlﬁnﬂ‘ms?‘q’a‘wﬁm

Question numbers 21 to 31 carry four marks each.
VY rEvE By g 378, 180 aﬂum %1 HCF 71 ®IfS¢ 31 HCEx LCM, ¥ d=asii & 4

21
TUAEHA ¥ T &2
Find “IF of 378, 180 and 420 by prime factorization method. Is HCF x LCM of three numbers
equal to the product of the three
numbeis ?

22 WERA+63+x2-24x-20 F A YF + 2790 - 5§ 7@ I T7F W@ Wi 4
Obtain all cther zeroes of the pblynomial x4+ 6x3+x2—24x =20, if two of iis zeroes are +2
and —5.

23 for=r Yae weiteo 3 1 e @ifag ' 4
y=2(x - 1)
4x+y=4

Page 4 of 6
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Draw graph of following pair of linear equations :

y=2(x - 1)

dx +y=4

Also write the coordinates of the points where these lines meets x-axis and y-axis.
o e x +3y =6, 20— 3y =12 3 x =0 TF G Y Pt v 91 Sk @ &1 M1 9 wemm @ 4
T el % wfasded g T FINMT SR 9 H AR T wifr, wafs @ 9 e F ) 5
TR & gl § W @ FY SauR &1 36fE # At 22

Three lines x+ 3y =6, 2x—3y=1Z and x=0 are enclosing a beautiful triangular park. Find the
points of intersection of the lines graphically and the area of the park, if all measu

in km. What type ct behavior should be expected by public in these ty
: ¢ type of parks ?
Tafgeg @ ABC ¥, AB=AC ¥ sk ?

BC & D & =z my ¥ e fom 4
AD2- AC2=BDxCD ¥| g

In an isosceles triangle ABC, AB=AC and BC is produced to D. Prove that
AD2—-AC2=BD x CD.

remenis are

UF AABC H, DE|BC®1 3f2 AD DB =3:5¢ @ E_"f‘fﬁv? I Hifag *

i - |
23N
Ina AABC, DE|{BC. [f AD : DB = 3 : 5, then find M(—ADF—E}. @
ar (CFB)

A
D E
F
B »
sinA, cosA, cosecA 31T secA &l cotA F T H = FITIT 4
Express sinA. cosA, cosecA and secA in terms of cotA.
g sind — cost = /7 cosd ¢, o fag Ffag fF sind + cosb = 2 sind 2 o
If sind — cos® = /2 cos, then prove that sind + cosd = /2 sinB.
% secd — tand = x &, @ Tufzy fiF _ ’

1x+ 1 1 (l - IJ
secd=2L Tlamiang= 2 \¥ L1
If secd — tanb = x,wshow that :

e
sec0= 2L  ¥lasdrane = 2
ﬁﬂl"ﬁfﬁﬂmﬁﬂhgﬁlmwﬂﬂWMﬂmﬂ(ﬁmt: 4

FARA (kg/ha) | 10—20 | 20-30 [ 30-40 | 40-50 | 50-60 60-70 |
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(4008 = 54
| 3008 35
| 2008 % 2
| 100 R % 10 ' |
Given below is a cumulative frequency disi-ibution. Corresponding to it, make an ordinary
frequency distribution.
X ) cf
Below 600 60
Below500 |58
| Below 400 A
Below 300 :5“_
Below 200 27 b
Below 100 10 A
. . WVZ-H / SECTION-C
TS 11200 vlwm w abr §

Question numbers 11 to 2, w2y Jhree meik; ecch,

T W 8% ¥ F ol Fiiva 1) R2FF ¥ w0 ) goe % o0 am § oy Y #5198 Tiea 3
3 FfY s @iy wim SR FRE ) wem T

Pens are sold in pack of 8 and notepads are sold in pacl: ¢r 12, Fird ‘ne . ast number of neck

ol each type that one shovi ! buy so that there are equal nundt oy of penand notepad-
a@‘ﬁxs+2x2—9x+lﬁwimﬁmﬁﬁwA;“E.r+4ﬂ‘{"f'ﬂ.WE’T?ﬂTQI 3

W'hat should be added in the polynomial .vr3 +ox =9%x + 1sothaiitis complete:y di-isihle by v+ 4

oot Tw ax’ + 120+ 9 & y=F AR o AW B A Frah TG Wit w5 s YA w1 Aoy 3
B—17¥!

Quadratic polynomial 4:r2 +12x+9 has zeroes as « and 8. Nov; form a quadratic Lolyn mial wh:."';-e
zeroesarea—landf—~1

ET'\'?!’-'}HS?I'HHW%?!?ﬁﬁm,{ﬂﬂmﬁﬂwﬁtﬂ#@ﬂiﬁﬁﬁﬁﬁm 3
The difference of two numbers is 66. If one num.ber is four times the other, find the humbers.

AABC 1 yaisli AB 3 AC W maw: farg p o Q #1 4l AP=2cm, PB=4 cm, AQ=3 cm,
QC=6cm ¥ @ g FIim % 5C=3 PQ & 7% ar (AAPQ) 3 ar (AABC) &1 #F™ 7 Wi #ifi
P and Q are points o1 the s°'des AB and AC respe.ctively o{ a triangl_e_ ABC. If Al =2 cm,
PB=4 cm, AQ=23 em, C =6 cm, prove that BC=3 PO and find the.ratio of area of AAPQ to

area of AABC. .
AABCH 3fe ADE= /B¢ 1t fag #ifeq fiF AADE ~ AABC R 3

e I AD =76 cm, AE=7.2 cm, BE=4.2cm 3R BC=8.4 cm %, @ DE 91 #iferg

w

I aABE S 28D ' ~ AABC
3C, i ZADE = /B, then prove that AADE ~ AABC. o
mA lﬁ[;: 7.6 -m, AE=72cm, BE=4.2cmand BT =84 cm, then find LE,
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The following table gives the production yield per hectare of wheat of 100 farms of a village

Production yield (kg/ha) [ 10-20 [ 20-30 [ 30-40 | 40-50 | 50~ —60 [ 60—-70
INumber of farms 10 15 30 32 8 )
Construct a less than type ogive and hence, find its median.

e, foe s w29 § U@ e & 50 famidaE ® mes

144 cm &, A YD IRARAN x Ty

y W 6 ~ _
125 |130- |13 |140- |i45- |i50- [155-

\ HAR fem ) 130 |135 |140 |145 |50 155 | 160

\ﬁﬂfﬁl‘i HEE |2 4 X y 3 E 5

If median height of 50 students of & class in the ‘ollowing trequency distribution is 144 cm,
find the missing frequencies xand y :
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Height 125- |130- |135 |140- | 145 [150- |155-
(in cm) 130 |135 |140 |145 |1350 [155 166
Numbei of 5 4 . y | 5 9 5
students o
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